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(2] 50] 6cmQl Y] PF)= 6 x 2 x 3.14 = 37.68( cm)
(A5°] 8cmdl Y] AF) =8x3.14 = 25.12(cm)
3768 3

1
25.12 = 2512 = —1-(n
37.68 + 25.12 = 3768 + 2512 = 7o = 5 = 15(*H)
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[> &g 314cm
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HEF D 314cm?

(RELE)= (879 1)

:lO><2><3.14+2—314(0m)
29 Yol) = (A48 4 1)

— (99] 9B x (P29 5)
=10 x 31.4 = 314( cm?)
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> HeD 6cm

o] Wo] : 28.26 + 0.2 x 0.8 = 113.04( cm?)
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[ ]x3.14 = 113.04(cm?)
x[ ]=113.04+3.14
[]

36

= 6(cm)
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llem

A2

>
[> HEH: 286.32cm

ANZAZY h2)= (LH] A9 9F)
(11x2%x3.14) x4+ 5x%x2
=69.08 x 4 + 10 = 286.32( cm)
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>
> HE: 109.68cm

YF)) 3
=(8%x3+4x%x314)x3
= (24 +12.56) x 3

= 36.56 x 3

= 109.68( cm)
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